Maytag MFR40PNCTS 01 - BASE FRAME

Maytag Commercial Maytag MFR40PNCTS Washer Parts Parts Diagram 01 - BASE FRAME
Click on the part number to view part

Item Original Part Number Replaced By Status Part Description

001 23004042 Frame Welded

002 23004168 Strape

003 23004169 Lower Tightener Roller
004 23004170 Uppr Tightener Roller
005 23004267 Belt, Shock Absor 36"
006 NLA Not Available SCREW (M8X80)

007 23003769 23001203 Washer

008 NLA Not Available NUT M8

009 23002461 Screw

010 23003778 23002756 Lockwasher

011 23003773 Not Available NUT M6

012 23002487 23001266 Nut M8

013 23001608 Washer Lu

014 23004172 Lock Washer M8 Ext Teeth
015 23004093 Riveting Blind Nut M4

016 23004175 Lock Washer M6 Ext Teeth


http://www.pwslaundry.com/c-299693-commercial-maytag-mfr40pncts-washer-parts-for-repair-service
http://www.pwslaundry.com/i-7799470-maytag-23004042-washer-frame-welded.html
http://www.pwslaundry.com/i-7799592-maytag-23004168-washer-strape.html
http://www.pwslaundry.com/i-7799593-maytag-23004169-washer-lower-tightener-roller.html
http://www.pwslaundry.com/i-7799594-maytag-23004170-washer-uppr-tightener-roller.html
http://www.pwslaundry.com/i-7799687-maytag-23004267-washer-belt-shock-absor-36.html
http://www.pwslaundry.com/i-7797780-maytag-23001203-washer-washer.html
http://www.pwslaundry.com/i-7798466-maytag-23002461-washer-screw.html
http://www.pwslaundry.com/i-7798606-maytag-23002756-washer-lockwasher.html
http://www.pwslaundry.com/i-7798482-maytag-23002487-washer-nut-m8.html
http://www.pwslaundry.com/i-7797824-maytag-23001266-washer-nut-m8.html
http://www.pwslaundry.com/i-7798004-maytag-23001608-washer-washer-lu.html
http://www.pwslaundry.com/i-7799595-maytag-23004172-washer-lock-washer-m8-ext-teeth.html
http://www.pwslaundry.com/i-7799517-maytag-23004093-washer-riveting-blind-nut-m4.html
http://www.pwslaundry.com/i-7799598-maytag-23004175-washer-lock-washer-m6-ext-teeth.html

017 23002424 Washer M6.4

019 23004173 Right Cabinet Reinforce

021 23002462 Screw Lu

laundry company*

laundry company*

laundry company*


http://www.pwslaundry.com/i-7798442-maytag-23002424-washer-washer-m6-4.html
http://www.pwslaundry.com/i-7798351-maytag-23002280-washer-nut-m6.html
http://www.pwslaundry.com/i-7799596-maytag-23004173-washer-right-cabinet-reinforce.html
http://www.pwslaundry.com/i-7799597-maytag-23004174-washer-left-cabinet-reinforce.html
http://www.pwslaundry.com/i-7798467-maytag-23002462-washer-screw-lu.html

	Maytag MFR40PNCTS 01 - BASE FRAME

